SERVICE
MANUAL

Stereo Power Amplifier

M-113




M-113

Contents
SPECIfICALIONS ..eveeeeeeeeiriri et a e b e e a e E e 2
Parts Location and Disassembly INStruction .........cccccceevmmiiiiniiinne 3to5
AdJUSIMENE PrOCEAUIES ......ovieiiiiieieeci e st 6
AJUSIMENE LOCAHION ...ttt 7
=110 Tod Q= Vo [ = PSPPI P PP IPPOPPPPPIOON 8
Schematic DIAgGram ....c.cceveeeeerieerire et e e s e e e e an e n s 9to 11
Parts Layout on P.C. Boards & Wiring diagram ..........ccceceeereneneneeceeniniseeeeesess s 12to 14
[ L=Ye3 (L= L = Lt 1 R OO N 15t0 17
Cabinet Assembly Parts LiSt .......ccooeoreriiiiiiitccce s 18
Exploded View (Cabinet) ..........cccoeeeriniiiiiiininicccntccieteet s 19 to 20
Packing Assembly Parts List .......c.cccecceeriieinieniiiiiiicii e 21
Packing Method VIEW ......cccciiiiiiiiicrtcitiicrt st 22
Semi-Conductor Lead Identifications ..........cceeereeriereeneereeee e 231024
Specification

POWET SUPPIY oottt e e s n AC120V/60Hz
POWET CONSUMPLION ...eeieeiieeeriieceieteneesee e s et e ss e e sttt ss s b s e a s b e s ae s b e s s s s e b e beeaeenaenas 3.9A
oY To N 30T o =To F=T o o= OO 8 ohm
Power Output (at 0.03% THD, 8 ohm, 20Hz~20KHZ)..........cccceiiiiiiiiiiiiiiececciecece e 60 W
Max. Power Output (4 0hm, TKHZ) ...cc.eooeiieiieieeeee s 100 W
T.H.D. (Input 1V at 50W Output, 8 ohm, 20Hz~20kHZ) .........cceeveriiiiiiiiiiiiiiecc 0.33%
Input Sensitivity (at S5OW Output, 8 ohm, TKHZ) ......ccoooviiiii, 1V+20%
Input Impedance (TKHZ) ........ccociriree s erereeeresrennnerenanress 42 kohm20%
Frequency Response (at 1TW Output, 8 ohm) ........cccccvviiiiiniiiniinninnne, 20Hz~20kHz +0, -0.3 dB

5Hz~100kHz 9 ,dB *33 dB
S/N Ratio (Input Terminal Shorted, 8 0hM) .......cccoceriiiire e, 105 dB
Cross Talk (at 50W Output, 8 0hm, TKHZ) ....cccooiiiiee s 70 dB
EST=T0TeTo] 4 Lo (13 (o] £ 00N 3ICs, 42 Transistors, 4 FETs

- , 25 Diodes, 7 Zener Diodes

[D1]33T=T T T o T 483(W) x 137(H) x 365(D) mm
LA =1 | 1 OO 8.5 Kg



M-113

Parts Locations and Disassembly Instructions

POWER BUTTON AND OPERATION CLIPPING INDICATORS
INDICATOR L AND R

Figure 1

INPUT SENSITIVITY

SWITCH (S2001)
INPUT JACKS SPEAKERS TERMINALS AC POWER
(J2001) (E2101) CORD

(P001)
Figure 2

1. Removal of Top Cover
(1) Remove six screwes marked “@” as Top/Caver
shown Figure 3. ;
(2) Pull out the top cover in the direction of
the arrow as shown in Figure 3.

Front Panel

Figure 3



M-113

2. Removal of Front Panel

Front Panel
(1) Remove six screws marked “A” as shown

Bottom Side

A
in Figure 4.
(2) Pull out the front panel. )
Top Side
Figure 4
- A Sup;ort\PAC Board
3. Removal of Main P.C.Board , g ' ' N
(1) After removal of the top cover, and the l Push => ] |
front panel, remove twelve screws marked \ FUSEP.C_ Board
“0” as shown in Figures 6,7 and 8. Chassis Trans. P
~ ~
(2) Disconnect all connectors from the main T
p.c. board Figure 5
(8) Main P.C. Board with the heat sink and Thermal
input p_C. board can be removed com- Heat Sink Protector P.C. Board. Push Knob
pletely. -
Fuse
P.C. Board

® (UZ Model Only)

\ * (UQ Model Only)

Support P.C.

(UZ Model Only)
4. Removal of Heat Sink

Power Trans
(1) After removal of the main p.c. board, re-
move two screws marked “x” as shown in

Firure 9. Input Main P.C. Board.
P.C. Board
. . Figure 6
(2) Remove the solder (A) as shown in Figure
9.

Heat sink Rear chassis

(38) Disconnect a connector from the thermal
protector p.c. board.

Figure 7



M-113

Heat Sink

5. Removal of Fuse P.C. Board (UZ Model only).

(1) After removal of the top cover and front panel,
remove the push knob as shown in Figure 6.

(2) Remove three screws marked “®” as shown in =
Figures 6 and 10.

.

Power Trans

(8) Remove the PCB support from the fuse p.c.
board as shown in Figure 1, by pushing the
point “A” as shown in Figure 5.

Figure 8

Heat Sink

(4) Disconnect all lead wires from the fuse p.c. ,
board. YRR (i adddd

6. Removal of Fuse P.C. Board (UQ Model only)

(1) After removal of the top cover and front panel,
remove the push knob as shown in Figure 6.

(2) Remove three screws marked “%” as shown in
Figures 6 and 10.

(3) Disconnect all lead wires from the fuse p.c.
board.

Solder A. i Main P.C. Board

Figure 9

® (UZ Model Only)
* (UQ Model Only)

. " Front
M i . . Chassis

Figure 10



M-113

Adjustment Procedures

1. Connection

I
TPLTPY) T 4 |
TP2(TP4) =1 o

AC. VTVM

Set

Figure 11

2. Control Setting
Power Switch ON
Input Sensitivity Select Switch—— 1V

3. Adjustment Procedures
Idling Adjustment
Adjust VR2101 (VR2102) so that voltage between TP1 (TP3) and TP2 (TP4) reaches 20+4mV.
Note: Proceed the adjustment shown above about three minutes after power is turned on.



Adjustment Location




M-113

Block Diagram

(to123)
IUNINY3L
UDIV3dS

<

(LOHEAT)

aN! 43mod
HOLvIN934
AG+
N
AGZ - Almoh%mw 1934
I
AOS [
a+
olany *°3
AOS+ 14
vns2) _I_woﬂm
(+001) (LOg1d) Io.r\_;m
40123108d HO1vIN93y SNVdL ¥3mod  3sn3  HILINS
IWNHIHL AG+
HOLSISNVAL HOMYIW
O % Aﬁ 43MOd r AN3HHND
|m S S *
L 1 “mman— 1] JWY AZ <= AL
+4 O———a oH o |
Y “ T o) i Ny | 3Qvosvo WILN3N3 4410
S |
| | s
5 |
| \ HOLSISNVYL [
| | 43IMOd [ ¥3A180
| “ " (AN19NIddITO
| ! §0153108d] i
! “ _ (2o21aM
|
43A148Q0 | ! i .
— | anlt
AVI3Y ¢ TS I YA 1SNraY 3731 ONIddIND HOLIMS 8012313S kp
40.103108d " _ “ — ] (102+a) ALIAILISN3S 1NdNI
[ N |
: n {go1o310ud] ! |
| | I 43A180 |
! ! UOLSISNVHL ! QNI ONIddI1D !
1 1 43IMOd ﬁ ]
I | < < |
_ | 1 1 JNY |
| | —
+1 O—————a_ d3ALLIWIN [II
Lo~ 0 1 —livasano | 3vOSW Jq_hzﬂmm&_o
-1 ( TL b=
HOLSISNVAL HOBIN ne A
43Imod LIN3HEND

;

M §),

(100d)

oNd

(tooer)
Xovr
1NdNI




Schematic Diagram

TC3T01 1.All resistance volues are In ohms, K=1, 000 M=1, 000, 000
' 1
LE:4S: :gg:gg 2.All copocitance values are In microfarads, P 1, 000, 000
Q2101 Q2108 Q2111 Q2118 Q2127 Q2122 Q2131 Q2135 Q2138 Q5101 Measuring Condition
TRANS I STORS Q2103 Q2108 Q2108 Q2113 Q2116 Q2119 Q2129 @2130 Q2123 Q2133 Q2125 Q2137 Q2141 Q2145 1 Power Supply Voltage :AC120V
Q2105 Q2104 Q2110 Q@2115 Q2114 Q2120 Q2121 G2125 Q2124 Q2134 Q2126 Q2138 Q2142 Q2148 04101 2 Measuring Meter :Digital Multi Voltmetor
02107 @2102 Q2117 Q2112 02132 Q2136 Q2140 3 Measuring Polint Reference:From Capaclitor 1402 to 1403 On the Line
4 Measuring conditlons :Power SW/ON No Signal |nput
CONSTANT]  p2101
MAIN P.C.Board CURRENT 152471
CURRENT o EF) =
MIRROR gg:: o d fgg g%— GD ~ &2 oR ‘ﬂ{gé axl Ly 1C3101[IC3102]1C3103 E C B
7 éi’;sg_ 2108 2l "y el '§S gé:s RE é,_"ft ‘:EE CRIPPING IND LED 1 oV SV SV Q4101 SV ov 4.4V
25| N | 0,09 S50 ¥53 r' ica1o7 i S Rs101 A P.C.Board 2] ov oV oV Q5101 ] SOV | 48V [49.4V
Q2101 25K246 4778w 5 3103 F 2SA1358 ~ 3] ov 50V 27V
25A995 - Seliaisesiid PR VR T RS - ] #PC1237H b NI A 2 S B s 4] 1.8V
- ] FRALE0 § 5 PS2i T cozioa) | Kcmizor KPMER gL ov
- |"220 P—wW OVER = 0 e
4 R2181 | R2185 L o [fvee ON| |RELAY ol e g 71 2.2V
CASCADE t-m—| Q2127 Tok' | e EQAD S MUTE | [oRIVER[ & A i 813.2v
25C2240 Wy DETECTOR] o 31 Q2145 AL > Q
Q2103 T 2c22|/3550 : ul. 2’?_ 2SA1 389_\ 8. 2K-2W D) )
25c2291 02129 : e 5 L ac-oFF 3 E | LP1283 L i
25A970 ; ectod 1 & [PpETECTOR z H E T B E € B
DIFFRENT!AL| [ b c2127 R2187) T Q2101 | 49V [48.7V[ 48V a2102| 49V |48.7V[28.aV
AMP ( 2.2/%0 ik TR o 49v_|48.4V| 48V 49V | 48.4V | 48.4V
Q2105 / - R2183 | | 8 N 48.7V | 4.8V - 48.7V| 4.8V
L & S wifl WP 53 EZ;E?”‘?TDMAT'C g8 02103 _ |48.av]| 4.8V 02104] _ |48lav] 4.8V
2. Ts—. S5 we2123  paite : T §2107 |-26.6V[ -0.2V [ -26V G2108[-26.6V[ -0.2V | -26V
5 S 3 © 97 T3200F 152471 p217) A‘J " Q2111 48V | 48V [48.7V Q2112 48V | 48V |48.7V
£ . 4.7-1/4w 4.7-1/74W Q 3 48V 1.7V | 47.4V [€] 4 48V 1.7V [ 47.4V
3 Tael Q2117 = &/ 02133 <5 Q2115 [=1.7V ]| 1.7V - Q2116 1.7V 1.7V -
02107 2 Sy | 78S 2SC3423rz2213 32K 2158 1 2581258 b 5 ° ° Q2117 [-45.6V| -1.7V ] -45V Q2118 [-45.6V[ -1.7V | -45V
2S5C2910 T8e | =] ) j 2] 4.7 2o e= Sx 2 4 55 82 Q2119 | -50V - -49V 02120 | -50V N -49V
— | 5 Y R21s9 2 2°7 T o8 g3 . Q2121 —13V_ [ —13V | —14V 02122 13V | —13V | 14V
] S. 6K | < SPEAKERS = = = a = = p
; ; . R S STt T F) . by ! . L 5 TEAERS 02123 | -13V | -50V [-6.8V Q21241 -13V | -50V | -6.8V
o Sz p3a .- De2101 Q S| -50vV 48V - Q 8] -50V 48V =
INPUT P.C.Board 95@) g8 = o o Q2127 ] oV - oV Q2128 0V - ov
S W— b W o o
E] 2 R2185 =2 R3105 Q2129 oV - oV Q92130 oV - oV
i ® 28z ¢ 758 ER tezen a0k 02131 0.6V | 50V [ 1.7V 02132 0.6V | S0V [ 1.7V
1 A2138 £ . Sai 02133 [ -0.6V | -50V | -1.7V G2134[-0.6V | -50V [-1.7V
1 12601 R2001 R2003 2.7M, _ Q2135 oV SOV 0.6V Q2136 oV 50V 0.6V
L i 2 23 Q2123 Q2125 Q2137 OV | -50V [-0.6V Q2138 OV | -50V [ -0.6V
-L o i A R2125 ;gII R2141 2SA13189 2SC2240 Q2139 SOV oV 49V Q2140 SOV ov 48V
& 8% S () R | CLIPPING , ! Q2141 ] OV [ 1.5V [ 0OV Q2142 OV [ 1.5V | ov
> 8= INDICATOR ': ; ‘ g Q2145 -28V | -50V |-27.4V Q2146 -28V | -50V |-27.4V
: L — g ; ; ‘
g 8 Ve 2y " ] \ , | S o] ] S D ]
£ T & R2008 R2178 439 21z @ e, ' \ : . : Q2105[-0.2V[ - oV Q2106 [-0.2V [ - oV
i A s Rl Q2120 /[ Q2124  \_Q2126 ~ ] i Q2109 5.7V | 50V oV Q2110 5.7V | S0V oV
ﬁjzoo _g R2002 R200. o 8= o T“ = _ 28C3332 2SA1318 SC2240 . .
100 Rzzuo" . ] .
CBZOO cB2102 R%‘082 ’ zz;h ,33‘ » E2101
| Wl 22 AS5 =88 -~ Ren
CONSTANT} 333  &%@ | 34 8% - oo <
CURRENT: ; R §§¥ e~ 5 -
A
02108 D e e Nl
Uz Ua 25€2910f YR\ ——F KSE
%| C2324, 2345] 0.1 X - ‘:gg o, y 5]
= > Ve Q2134 e
R2117, 2118 {Jamper[1.2K E :fl I 583 2581258 a
L < 7;. 8, . h2120 e THERMAL PROTECTOR
8T 6 E o, [E7 oS K525 s2am . ‘ P.C.Board
& ¥ 2> £ 25 T et |C3102
5T ok 82 J T R218a | NJM78LOSA
0210585 = 8 SN Fox! 155508 .
\ o iy A —- M CB4101
2SK389, e T é’ 7 £2128 R2188rT5 GuER <8 cB2104 ;
DIFFRENT IAL] I 3 21250 k- 18 L2102 R3107
3% CPIEREAN TRANSISTORE | |55 TIK + 8 /
ar 8. 25A970 " i g 3 'k
Q2104 = | S og o ! R4103 R4102
ZSCg l R2188 p e \}z PRV @ 3 il I K
is 7 02128 () o € Yozi122
CASCADET pay40) < L 2SC2240 \ R2182 | R2ife 2190 2503332 1€ : WA ox
% c210 a3 I a2 g 1K &7 ad R3108 333
470P & 7 T AW s O 1 c2140 L. b A1 etreal 27K ‘ EY
1 25455008 ) 02118 1 A T3} Yook 33 <5 | RE B a
02102 8@ 2 SAZ 2 SEX THERMAL 4101
25A995 )* g z Eisy L/ a2132 ¢ 15 T, 8% s PROTECTOR] 28A1360
, 2ol8s| o Taz2110 3% %23 47170 LI 25D1785 28z 7Y % =%
8l 2838°| oyam | 25k246 72" op 188 i EREEED JCEE B ,
=3 23— e ;
WIRRGR. S ' @ s 22140 1€3103
¢ 33 25A1319 NJIM78LOSA 5
L) C D1407 LD1101
02102 I—J/T 003 R3LL CBZ—F‘“ - aLI0n aLsHS8
i CONSTANT 152471 fgcgz/'&% PROTECTOR | W ”;U 3 : 3':2 i Z\%
CURRENT R3110 . .
470-3w = Q
! <
FUSE P.C.Board : ;;g,;
o
Ao AT i ! POWER LED
120v | T1301 TRANS ggy ] ~ P.C.Board
CAUTION: | | (BB A E 88
TheA mark, the symbol No.In the schematic didgram and % . o LR
the shaded area In the parts Iist desigmate components which have 37v
speclal characteristics Iimportant for safety and should-be replaced POOI BLK .
only with types ‘ldentical to those in the orlgingl clreult or specitical . b
in the parts IlIst, [
NEL] \‘\/“/ Saz
PLUG AC CORDE 8
@RY ov =
i T1302 A | NE :
l 1 Ssm
] ©8
| S
' M-113
1 -




M-113 ‘ M-113 M-113

Parts Layout on P.C. Board (
& Wiring Diagram

B8D140I

. Violet
Qz136 Q216 Q2138 Q2134 BLK/WHT.... Black/White
SHLD .......... Shield

Yy X

.
Q2133 g

R EE |
Mo o ]
R2I75 T P il
claotl 8 cpezioa
AL
e c2i46
cz2i29 W <
@
PNK (2) ra =
— {PNK (1) '.:3 @
s - " VR2102
1g Lt aziao < [
© O 3 1 H 270 1 RolSz i
"1 0zt c—-z—:-ad\il\,— : ! R2134 O]
| L _
| = | YEL (4
J g +H, e R Q*E - oo POWER TRANS(TOOI)
- | @l | o Coi42 e T \F = [T~ H YEL(2)
. 0 él = olulg |2 =2Fd gl 8o @ n
3105 : g © Focx a - %&‘ B : @ i Ty e YELU =
N | | Cmazazlze -g| | Ig c214 o & =
T m 13 ® i . , ; | agizo ~ SR A-\
o ~ . . .
1 rmeell) 2 TN 3 | |f Bea ; : e e : s b = pzie
P 5 [l TR e -t : ' e T A X3
c3i04 . + l} — e e e amae m e i - ;’ +# cziz2a © q°
. | . 4 . - P . L ‘Y I cz2128 Y S m—
py cz127 e = =R o S e | f e ST z 1 : R2j84 & h
caraz —— I}l —MA— . 4 P 1 " , ___yc4tol e T
POWER LED P.C.BOARD —# 2 gl Lideme, 8208 | rha . b el g b D2120 - OHéad® ! !
| _ czt-? I . - Al e . : Il - czi38 R4103 _ | |
I , . : i , : - . il  c2ls —AM— Q_L |
5 "—ki—- 11 < 1 . ) ) Raioz 3T I : - ;i
) AN o2il L L pzuz @ g e | | TS -
= 0228 g o ; . 02126 x REp . : | Tg
/7% - = 5 % ] |
@, 0 9 - . . , . - - . X olalo L—J »Mf
O NE St — SR SisTE THERMAL |
BLL «]*|* Q2145 o ~ @ 2lEle Rl e
i e I\ e e e & PROTECTOR : 3
] N .__JFJ - a : P.CBOARD
o @ R2209 ' —W— 3 -|-3
8 T -l 9 R2210 # & TE
[y gy | i e —— _— 2 3 ©
I rOeH X A e - A e : -
LDI202 LDIZ0I R2i29 — A— L ST (jf" D2i32 J STAR LUG ‘
i |~ (M - vy R2136 .
o383 E —l— Raisa, ° gzl 1\ —H— 2i0:9
o o~ = -
CLIPPING IND LED P.C.BOARD 27e5e 16D s 3 g@ &t zozos (5 Seizd |
‘R G217 @ T F T @ i aziig
Lo @ . a2i3 aziil LD2109 azliz _‘ozua - 6212z 1
Z M W
TN R2161 ¢ AN AAA R2162 H
” R2155 Rz127 R2137 p2lo7 p2108 R2138 R2128 o — "y
WY 8 © .
aziz3 . & :% %\E' = @ezuza '
o~ i i
2 be R 148 L
LD2I03 L s R2164
LDzI04
i ohos s |
R2I21 & o #2 : \. )
® o e R2i22 g
( ey, S E 3" g : FUSE P.C. BOARD
gy R2116 o &
;,%"‘J"““' * ._MRZAH,.._,I R2I05 & x 2
r el 12 R2IT g RN A o | o §
RCH 58TS ® r | | =t " : 1 Ra2u2 1o, o x
| ) S35 ; TRl g [T n == Tos2:8
| ™ QK# x| e : L) g c2345 L [ } TRdile @ =&
J J 1 o iRl o 5"
& 1 ® r'®' ezior -OL“» il T A - - {-_‘,J Q2108
1‘ ’n‘ . : GRY SHLD __’{.'1'2 R2113 2105 @2103 |azi0l o ; Q2106 " galia g!—_-,@ O] SHLD _ny
LcH ] 1% @ o - I - AMA S d— WHT
; s tj © R2125 4;#% 2108 I . + §‘ R2126 Sy >
B (&2 S
I e R2139 R2143 =k L o BLK -
g - . (BLE with Grooves PLUG AC CORD
R2141 c2165 il : (POOI)
N \_ i
INPUT P.C.BOARD L - ,__—J
-
MAIN P.C.BOARD |
| @® : UQ MODEL ONLY
| | Uz ua .
L 7324, 2345] 0.1 | X W : UZ MODEL ONLY
| - ) R2117. 2118 |Jamper|1,2K Others : COMMON
p— — -y

- 12 — - 13 — — 14 —



Electrical Parts List

M-113

Resistor : Carbon resistors under 1/8 vatts are not mentioned in the
parts list. please confirm them by schematic diagram.

Capacitor: ¢ F=microfarads. pF=picofarads

Abbreviations

CAP.=Capacitor CER.=Ceranic

Symbol

Part No.
No.

Description

Q2141 | 48T82195F01 | 25C33328

CP.=Chip LED.=Light Emitting Diode Q2142 | 48T82195F01 | 2SC3332S
ELY.=Electrolytic MO.=Metal Oxide Film Q2145 | 48T64375F01 | 2SA1360
MIC.=Mica PP.=Polypropylene Q2146 | 48T64375F01 | 2SA1360
MYL.=Mylar ZEN.=Zener Q5101 | 48T69177F01 | 2SA1358
SOL.=Solid

Syabol Part No. Description
No.
Main P.C.Board Diods/LEDs
D1403 | 48T68764F01 | 1S2471
IC's D1404 | 48S40477U01 | IN4003
1C3101 | 51T60527F01 | «PC123TH D1406 | 48T68764F01 | 1S2471
1C3102 | 51T61180F02 | NJMT8LO5A D1407 | 48540477U01 | 1N4003
1C3103 | SIT61180F02 | NJMT8LO5A D2101 | 48T68764F01 | 1S2471
D2102 | 48T68764F01 | 1S2471
D2107 | 48T68764F01 | 1S2471
Transistors D2108 | 48T68764F01 | 1S2471
Q2101 | 48T72597F01 | 2SA995 D2111 | 48T68764F01 | 1S2471
Q2102 | 48T72597F01 | 2SA995 D2112 | 48T68764F01 | 1S2471
Q2103 | 48T72598F01 | 2SC2291
Q2104 | 48T72598F01 | 2SC2291 D2113 | 48T68764F01 | 1S2471
Q2105 | 48T61719F01 | FET,2SK389 D2114 | 48T68764F01 | 1S2471
D2115 | 48T68764F01 | 1S2471
Q2106 | 48T61719F01 | FET,2SK389 D2116 | 48T68764F01 | 1S2471
Q2107 | 48T72889F01 | 2SC2910 D2117 | 48T68764F01 | 1S2471
Q2108 | 48T72889F01 | 2SC2910
Q2109 | 48T66948F03 | FET,2SK246 D2118 | 48T68764F01 | 1S2471
Q2110 | 48T66948F03 | FET,2SK246 D2119 | 48T68764F01 | 152471
D2120 | 48T68764F01 | 1S2471
Q2111 | 48T64375F01 | 2SA1360 D2121 | 48T68764F01 | 1S2471
Q2112 | 48T64375F01 | 2SA1360 D2122 | 48T68764F01 | 1S2471
Q2113 | 48T64375F01 | 2SA1360
Q2114 | 48T64375F01 | 2SA1360 D2123 | 48T68764F01 | 1S2471
Q2117 | 48T64376F01 | 2SC3423 D2124 | 48T68764F01 | 1S2471
D2131 | 48T68764F01 | 1S2471
Q2118 | 48T64376F01 | 2SC3423 D2132 | 48T68764F01 | 152471
Q2119 | 48T82195F01 | 2SC3332S ZD1405 | 48T52739F85 | ZEN,HZ20-1
Q2120 | 48T82195F01 | 2SC3332S
Q2121 | 48T82194F01 | 2SA1319S ZD2105 | 48T62636F12 | ZEN,HZ5CLL
Q2122 | 48T82194F01 | 2SA1319S ZD2106 | 48T62636F12 | ZEN,HZ5CLL
7D2125 | 48T52739F85 | ZEN.HZ20-1
Q2123 | 48T82194F01 | 2SA1319S ZD2126 | 48T52739F85 | ZEN,HZ20-1
Q2124 | 48T82194F01 | 2SA1319S 7D2129 | 48T52741F67 | ZEN,HZ30-1
Q2125 | 48T53301F01 | 2SC2240
Q2126 | 48T53301F01 | 2SC2240 ZD2130 | 48T52741F67 | ZEN,HZ30-1
Q2127 | 48T53301F01 | 2SC2240 LD2103 | 48T10857W01 | LED.GL5PR8 (RED)
LD2104 | 48T10857W01 | LED.GL5PR8 (RED)
Q2128 | 48T53301F01 | 2SC2240 LD2109 | 48T10857W01 | LED.GL5PR8 (RED)
Q2129 | 48T52545F01 | 2SA970 LD2110 | 48T10857W01 | LED.GL5PR8 (RED)
Q2130 | 48T52545F01 | 2SA970
Q2139 | 48T82194F01 | 2SA1319S
Q2140 | 48T82194F01 | 2SA1319S




M-113

Sy :_201 Part No. Description Sy:(t:ol Part No. Description
Capacitors C2150 | 08T57851F09 | TF. 0.047 uF
C1401 | 21T68834F01 | CER. 0.0LuF C2153 | 23T00132L42 |ELY, 100  F/80V
B | C1402 | 23T10976W01 |[ELY. 10,000 « F/56Y C2154 |23T00132L42 |ELY. 100 2 F/80V
® | C1402 | 23T15908W01 |ELY. 10,000 1 F/56V C2159 | 23T00132L53 |ELY. 33 F/100V
B [ C1403 | 23T10976W01 |ELY. 10.000 « F/56V C2160 | 23T00132L53 |ELY, 33 uF/100V
® (C1403 | 23T15908K01 |ELY. . 10.000 « F/56V
C2163 | 23T81031F05 |ELY. (BP) 10 . F/100V
C1404 | 08T57851F13 | TF. 0.1uF C2164 | 23T81031F05 |ELY. (BP) 10 . F/100V
C2101 | 08T81196F14 | MIC, 22pF C2165 | 08T81196F25 | MIC, 47pF
C2102 | 08T81196F14 | MIC, 22pF C2166 | 08T81196F25 | MIC, 47pF
C2105 | 08T93192F41 |ENQ. 470pF W | C2324 | 08T50579F13 |TF, 0.1uF
C2106 | 08T93192F41 |ENQ. 470pF
M | C2345 | 08T50579F13 | TF. 0.1uF
C2109 | 08T57851F13 | TF. 0.1uF C3101 | 23T00138L21 |ELY, 100 2 F/16V
C2110 | 08T57851F13 |TF. 0.1uF C3102 | 23T00138L75 |ELY, 4.7TuF/100V
C2111 | 08T81196F25 | MIC, 47pF C3103 | 23T00138L21 |ELY, 100 £ F/16V
C2112 | 08T81196F25 | MIC. 47pF C3104 | 23T00149L59 |ELY. 47 1 F/50V
C2113 | 23T00149L44 |ELY, 33 uF/35V
C3105 | 23T00138L46 |ELY. 2.2 F/50V
C2114 | 23T00149L44 |ELY. 33 F/35V C3106 | 23T00138L46 |ELY. 2.2uF/50V
C2117 | 08T57851F13 | TF. 0.1uF
C2118 | 08T57851F13 | TF. 0.1uF Resistors
C2119 | 21S40655F06 | CER. 5pF R2177 | 06T92264F21 | MF, 68ohm 2W
C2120 | 21S40655F06 | CER. 5pF R2178 | 06T92264F21 | MF. 68ohm 2W
R2179 | 06T67397F01 | MPC. 0.220hm 5W
C2121 | 08T00152L13 |P.P, 2,200pF R2180 | 06T67397F01 | MPC, 0.220hm 5¥
C2122 | 08T00152L13 |P.P. 2,200pF R2199 | 06C43205)37 | MF. 10chm 1/2W
C2123 | 08T00152L13 |P.P. 2.,200pF
C2124 | 08T00152L13 |P.P. 2,200pF R2200 | 06C43205J37 | MF, 10chm 1/2W
C2125 | 23T00138L46 |ELY, 2.2 uF/50V R2203 | 06T92264F01 | MF, 10chm 2W
R2204 | 06T92264F01 | MF, 10ohm 2W
C2126 | 23T00138L46 |ELY, 2.2uF/50V R2211 | 06T92264F71 | MF, 8.2Kohm 2V
C2127 | 23T00138L46 |ELY. 2.2 F/50V R2212 | 06T92264FT1 |MF. 8.2Kohm 2¥
C2128 | 23T00138L46 |ELY. 2.2 F/50V
C2129 | 08T81196F25 | MIC. 47pF R3102 | 06T92263F49 | MF, 1Kohm 1V
C2130 | 08T81196F25 | MIC. 47pF R3110 | 06T92265F41 | MF. 4700ho 3W
VR2101 | 18C41732G07 | SOL. Variable 1Kohm
C2131 | 08T81196F28 | MIC, 56pF VR2102 | 18C41732G07 | SOL. Variable 1Kohm
C2132 | 08T81196F28 | MIC, 56pF
C2137 | 23T00138L46 |[ELY, 2.2uF/50V
C2138 | 23T00138L46 |ELY, 2.2 uF/50V
C2139 | 08T81196F34 | MIC, 100pF
Coils
C2140 | 08T81196F34 |MIC. 100pF L2101 | 24T74372F02 | IND. 1 uH
C2141 | 23T00138L46 |ELY, 2.2uF/50v L2102 | 24T74372F02 | IND. 1uH
C2142 | 23T00138L46 |ELY, 2.2 uF/50V
C2143 | 23T00138L30 |ELY, 4T uF/25V
C2144 | 23T00138L30 |[ELY, 4T uF/25V
C2145 | 08T81196F34 | MIC. 100pF Relay
C2146 | 08T81196F34 | MIC, 100pF RL2101 | 80T95099F02 | DH24D2-0T (M)
C2147 | 08T57851F09 | TF. 0.047 uF
C2148 | 08T57851F09 | TF, 0.047uF
C2149 | 08T57851F09 | TF. 0.047 «F
Note @ ; For Canadian model only(UQ) B ; For North American model only(UZ) Others ; Common




l M-113

Sy',bOI Part No. Description Syabol

Part No. Description
No. No.

Input P.C. Board Q4101 | 48T64375F01 | Tr.2SA1360
o S1301 | 40T92255F02 | Sw.Push SDLD 1P

Capacitors S1301 | 40T92612F01 | SW.Push SDDFA3

C2001 | 08T61642F27 | MIC. 100pF $2001 | 40T69085F01 | Sw.Slide SSB022
C2002 | 08T61642F27 | MIC. 100pF T0OOL | 25T10975401 | Trans.M-113TUZ.Bando

Resistors

R2001 | 0BT00126L41 | MF. 100chm 1/4W
R2002 | 0BT00126L41 | MF. 100cha 1/4W
R2003 | 06T00126L98 | MF. 24Kohm 1/4N
R2004 | 06T00126L38 | MF. 24Kohm 1/4N
R2005 | 06T00126L98 | MF. 24Kohm 1/4N

R2006 | 06T00126L98 | MF. 24Kohm 1/4V

TH-PRO P.C. Board

Capacitor

C4101 | 21S40655F11 | CER. 10pF

Miscellaneous

BD1401 | 48T81924F01 | Dio.Bridge RBV-602
C1301 | 08T57437F09 | Cap.Cer.0.01uF
C1302 | 08T57437F09 | Cap.Cer.0.01 uF
E2101 | 40T15190w01 | SP-Terminal

F1301 | 65T62175F01 | Fuse.UL TA-125V

J2001 | 09T70753F07 | Jack.RCA 2P
LD1101 | 48T10857%02 | LED.GL5HS8 (ORG)
LD1201 | 48T10857%01 | LED.GL5PR8(RED)
LD1202 | 48T10857W0L | LED.GL5PR8 (RED)
P00L | 28T55335F02 | Plug.AC Cord

Q2115 |48T92782F01 | Tr.2SC3964
Q2116 | 48T92782F01 | Tr,2SC3964
Q2131 | 48T94821F01 | Tr.2SD1785
Q2132 | 48T94821F01 | Tr.2SD1785
Q2133 | 48T94820F01 | Tr.2SB1258

Q2134 | 48T94820F01 | Tr.2SB1258
Q2135 | 48T95042F01 | Tr-2SC4388
Q2136 | 48T95042F01 | Tr.25C4388
Q2137 | 48T95041F01 | Tr.2SA1673
Q2138 | 48T95041F02 | Tr.2SA1673

Note : @ ;For Canadian model only(UQ) B ; For North American model only(UZ) Others ; Common



M-113

Cabinet Assembly Parts List

Note : The parts without part numbers are not supplied.

Syabol | IN- Part No. Description Syabol | IN- Part No. Description
No. dex No. dex
1 |5-A |O0LV13100W66 | Assy..Panel Front
2 | 4-B | 64C10969¥W01 | Panel.Front
3 | 5-B | 13B10970W01 | Frame,Panel Side(L.R)
5 03S43997P42 | Screw.Countersink(M3x5)
6 | 5-C | 75S92415F43 | Cushion,Rubber
8 | 5-C |75S62361F95 | Cushion,Rubber
9 | 1-D | 15D72658F01 | Cover.Top
11 | 4-H |15C10967W0L | Cover.Rear
12 | 3-G | 43B41625J02 | Support.Cord
13 | 2-F | 14S53018F42 | Insulator.Cover
16 03S82672F20 | Screw.Bind (M3x8)
18 03ST167TF17 | Screw.Bind (M3x8)-
19 03540018G08 | Screw.TPG(M3x8)
B | 21 |2-A | 0TA91046F03 | Support.P.C.Board
22 | 3-F | 43A11630W01 | Spacer.Earth
23 | 3-H | 03S82672F22 | Screw.Bind(M3x10)
24 | 3-H | 03S82671F02 | Screw.Bind(M2.6x4)
25 03ST1031F03 | Screw.Bind (M3x6)
26 | 1-C | 03S40036U12 | Screw.Pan(M4x6)
32 | 3-F | 29T84161F01 | Star.Lug
34 |1-B | 09T51960F01 | Holder,Fuse
35 | 4-E | 03C40121T18 | Screw.W/Double Washer
(M3x10)
40 03544205G50 | Screw.Countersink (M3x6)
41 | 4-A | 36A94152F01 | Knob.Push Power
42 75A96563F02 | Pad.Trannleg(BLK)
43 03S44205G52 | Screw.Pan(Mdx14)
44 03S40036U01 | Screw.Pan(M4x8)
45 | 1-A | 43T53136F01 | Bush.Cap
@® | 47 |1-B | 03C40121T17 | Screv..¥/Double Washer
(M3x8)
@ | 48 |2-A | 47C64899F72 |Shaft 33.9
Note : @ ; For Canadian model only(UQ) M ; For North American model only(UZ) Others ; Common



x M-113 M-113 |

Exploded View (Cabinet)
.

X

5
Q /
D v
,':’ 7 4
7o) g

CED

®:UQ MODEL ONLY
®: UZ MODEL ONLY
Others : COMMON'




M-113 M-113

Packing Assembly Parts List Packing Method View

S; sbol Part No. Description :y'bol Part No. Description
o. 0.
W 10l 68P96552F14 | Owners.Manual M-113UZ
@ | 101 68P96552F15 | Owners.Manual M-113UQ
102 | 56S10005W17 | Carton.Packing M113UZ
103 56D34704F01 | Tray.Packing
104 | 56B40442T08 | Packing.Ftont Frame
105 56B40230G08 | Sack.Poly
Note : @ ; For Canadian model only(UQ) B ; For North American model only (UZ) Others ; Common

- 21 — — 22 —



LUX CORPORATION, JAPAN

1-1-8 Nishi Gotanda, Shinagawa-ku, Tokyo, 141 JAPAN
Phone:03-493-4381 Facsimile:03-494-8426

11/88-Y v
68P10565W02 Printed in Japan





